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@® 0.8 @1.625 ® 2.7 @4.025 ® 6.03
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08=—-,1625=1-,2.7=2—,
s 5 025 8 7 10
4.025 = 4i 6.02 = 6i ojlmg
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7. 125x62="7750 € o], o} Fo] W= S 12X Q.
@D 12.5x0.62 = 0.775 @ 125x6.2="1.75
125 % 0.062 = 0.0775 @ 0.125% 620 = 7.75

®
@1.25 X 620 = 775

B

@ 12.5x0.62 = 7.75
@ 12.5%x6.2 =1775

® 125 % 0.062 = 7.75
@ 0.125 x 620 = 77.5
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D 0.24x34.8 @ 2.4x3.48

@ 0.024 x 348 ® 24 x0.348

B

@D 0.24 x 34.8 = 8.352

@ 2.4 x 3.48 = 8.352

® 240 x 0.348 = 83.52

@ 0.024 x 348 = 8.352

® 24 x 0.348 = 8.352
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240 x 150 = 36000( m?) = 360a = 3.6 ha
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75 ha

> HE:

1km = 1000 m, 2km = 2000 m
500 x 2000 = 1000000( m?)

)

1 1
1000000 x (1 — < 1-=
x(1-g)x(1-=

750000( m2) — 75 ha
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AAolo] Stol, 451, Abs], Thet 4R A9 A 0] B 90
ol Ab8), Tt A B2 o] WL ssHoletn gyt 4

HolAEUrt?

3HE9] T4 ¢ 88x 3 = 264(F),
4T}EO] 24 1 90x 4 = 360(H)
45} A4 360 — 264 = 96(FH)




15. o= FolA 7.50°0 718 77k & o= AdY7R

59 2 _11 93
T—, 7

3 0w

93 11 2 99
o @5 01 @ @

B

93 31 _3

5= =T =TT

7%:7+%: +%=7.6875
2

705 =72

59 3

o =T =737

7.5 —7.375 = 0.125,

7.6875 — 7.5 = 0.1875




D 26 +25=1.04

@ 23 +24=0.95833---
® 76 +75=1.0133---
@ 124 + 125 = 0.992
® 21 +20=1.05
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@ tt=5cm, 7}=6cm, ZF TLE=50°
@ t=4cm, 7F=4cm, Y= 8cm
@7]—:6(3111,2_,1'“‘lLE:?OO,ZJ,'LE“‘IZGO°
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3AIZF ZoF 147.84kmE LA w22 g8 6 A5 ge

T 1
— o
A E 4AZE St AT w272 i © AFsA s Ut ofd

AEA7E_E ARl B kmE B AA SRR oA 2.

> E: 2452}

> E: km

> 38g oAsH

HED 12.32km

(@ AE2H7t 1 A7 B3F 2 A=)

: 147.84 + 3 = 49.28(km)

(© &2 1 AIZE B9t 2F A7)

: 147.84 + 4 = 36.96(km)

49.28 — 36.96 = 12.32( km)

@527 12.32km o AA SRSt
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270 ¥t Ay 20 2] B7A Hwt 3t oA 187 Q] B5A 2
Bt 35.5kg 02 @Y AA BH-S ol B ¥h7sto] 36.1kg
©°

Qdutelr] wHEsiste] 44 34

= a

(g E7A9 B4
= (36.1 x 38 — 35.5 x 18) + 20 = 36.64(kg)
— °F 36.6kg
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Fo= o] Yol
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=

1

2

1
+3x1x§+5x2+1x3x

1

2X2X =
* 2

1
2

= 17(cm?) — 17 x 2 = 34(cm?)
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7150l 7H5 £ £ 27} 8213 kol AU o] 7]
7

AFgSET W $0] BAE YUY 2

- 33.71 kg©]
59 A= 2 kgl A] FoHA L.

i

—

rlI

o] )= 82.13 - 33.71 = 48.42 (kg)

( O] )= 48.42 + 2 = 24.21 (kg)

(718 AA 2] )= 24.21 x 3 = 72.63 (kg)

({1 71559 FA)=AA FA)-(715 A9 FA)
=82.13-72.63 = 9.5 (kg)
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Eole o % em Q1A
(el 1 0.666--- — <F0.67)

(=0]) =28.09%x2+9
=56.18+9
=6.242- -

whekA] oF 6.24 cm FU T,




